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1. Determine an equation for this graph:
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2. Determine an equation for this graph:
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Graph the following functions. ,
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7. Giventhatsind = % ,find tan B
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9. Giventhatcos A4 = -E ,find sin B
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6. y= —sin(x+m)+ 2
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10. In the given diagram, A is the center of the circle, the line is tangent to the circle at B, AC= 3,

and BD = 5.

a. Find the measure in degrees of ZBAC.

b. Find the area of the sector whose boundaries are radius AB, radius AC, and arc BC.
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Simplify the following expressions.
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Solve for x. O o
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Using your unit circle, find the exact value of each function. (This means no decimals!)

27.cos45° = V2 28, sin 210° = —L 29.sin150° = /2.
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36.If cos 8 = % and 8 is in Q IV, what is 8 in radians? £}
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37.Ifsinfd = —1/75 and A is in Q III, what is @ in degrees? 24D

38. In which two quadrants is sin 6 > 0? T ’l_f
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39. In which two quadrants is tan 8 < 0? 1 aIv.
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40. In which quadrant would 6 be located if:
a) tan 6 <0and cos®<0? _l‘.[ﬂ
b) sin®>0andcos®>07 |

41. List an angle in Q I such that 0 < 8 < 2w and cos @ = V’—E T
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